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Note :

Any one of the Jollowing areas can be offered :

(i)
(ii)
(iii)
T :

Elements of Business.
Elements of Book-Keeping and Accountaricy.
Typewriting (T heory) English or Hindi.

ﬁwﬁ#ﬁéwﬁw%mmm?:

7
(ii)
(i)

T % ey |
TENGIAT T HEFTHT % ey
m(@@w)aﬁa‘?m%ﬁ

'ELEMENTS OF BUSINESS
TS & av
(Term - II)

General Instructions :

1.
2.
3.

6.

The question paper has 36 questions in all.
All questions are compulsory.

Questions from Serial no. | to 16 are multiple choice questions
carrying one mark each. These qre to be answered by writing the
correct option in your answersheet.

Questions Jrom serial no. 17 to 32 carry 3 marks each. Answers to
such questions should not exceed 10 words.

Questions from serial no. 33 to 36 carry 4 marks each. Answers to
such questions should not exceed 150 words.

Attempt all parts of a question together.

qraT=q (3397 -

1.
2.

¥ -3 4 3T 36 997 §
T T Sfaar &

[ Maximum marks - 80

[ 3B 37 - 80
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3. I UEAT 1@ 16 % Tglascdid Tl § @ Jedleh 59 U 3 F 8 19T

T3 eyl § B Get 3T T R 379 STR-GEienT B ford |

4 I GEIr 17 € 32 § A% 9 3 HF F1 &1 JHT F I 10 dl G

31fere 78 g =1feq |

5. ST GEIT 33 G 36 § Jedeh G99 4 3] T & Jedk & I 150 Isal &

37 7t 814 =Tfen
6. 9 & Gt 971 FT T TR AT 3 |

Which of the following is not a source of long term finance :

(a) Issue of shares | (b) Loan from ICICI

(¢) Issue of debentures (d) Bank overdraft

Fefefaa # e fa s aa sH =@ g ?

(37) it =1 fotort (%) SsHeTEEias 9§ ®

(@) ot & et (3) e ety

Which of the following source of finance does not provide owned fund :

(a) Issue of shares (b) Issue of debentures

(c¢) Retained earning (d) Bonus shares

Frefafga 4 = o fom |ia @i Sy yer T8 ot :

(31) 37T = fie (F) =T w1 i

(@) ufqenia  (3) IMmaIw

Issue of shares is a source of finance for :

(a) Sole Proprietorship (b) Partnership Firms

(c) Sate Enterprises (d) Joint Stock Companies

37ett =1 et for e B 2 - |

(37) UeHTEhRT AR % forg (9) wEEN wH & g

(¥) USRI 395 & g (3) wg It T o foTg
3
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Which of the following is an internal source of finance :
(@ Loan from LF.ClI. (b) Issue of debentures
(©) Retained earning (d) Public deposits

Frerforfem & 4 fyg o ST G i ar 2

(37) TR Fem () Forst =57 i
(W) wftrenia sy (3) s+ fagy

Which of the following is a source of short term finance
(a) Bank credit (b) Leasing finance
(©)  Loan from IDR] (d) Issue of debentures
Rttt & sy ford o d a2

(31) S grg

() wrgfa (effim) firg

(") Wy % & =y

(3) Forsit =5 Rt

Stock Exchange is a market where -

(a) Only debentyreg are bought and so]q

(b) Only €quity shares are bought and solqg

(©) Only preference shares are bought and sold

(d) Securities of the Ccompanies are bought and sold

Waﬁvﬁ@w%aﬁ:

(7)1 Forsit o5 352 e 3 |
@) Wmﬁsﬁwm-ﬁmm%
() %azaﬁwmﬁsﬁmm—%mﬁm%
(®) wﬁﬁaﬁwﬁﬁﬁﬁmm-ﬁmﬁm%
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A Private Limited Company can collect capital through : 1
(a) Issue of shares to the public |

(b) Issue of debentures to the public

(c) Collection made by its members

(d) Loan from Reserve Bank of India

e s et ol e S el 8

(1) SFa Y s % Rl gm (9) SAT 1 SRR 3 e g
(¥) A wEE HEHRe gy (9) syedfier festel Seh | 0T TR

The acceptance by the debtor is must in case of : 1
(a) Bills of Exchange (b) Proforma Invoice

(c) Cash Memo (d) Bank Draft

AT g i Afr TTeh € -

(37) R e (@) el ofior i g A

(@) R e d (3) FFgER A TH

In which of the following bank accounts higher rate of interest is allowed

on the deposited amount : , 1
(a) Current A/c (b) Fixed Deposit A/c

(c) Recurring A/c (d) Saving Bank A/c
i 1 O & e i ST e o S R S fe S g

(37) =L@ | (=) corrft ST @

(w) fertar @ (2) s=@ @

A cheque is issued on 1st March 2011 and bears date 20th January 2012. It

will be called : 1
(a) Mutilated cheque (b) Stale cheque '
(c) Postdated cheque (d) Antedated cheque

5 [P.T.O.
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12.

13.
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T <k 1 9T 2011 w7 [ithe foman T & 99 39 W 20 St 2012 i fafyr

s R B TR

(31) T == (@) gon forar-foer 2w

(®) IR =9 (3) vaEleHATRRd =%

Which of the following is not a primary function of a Bank :

(a) Accepting deposits - . 0 CroinlagieasgmnoT iotes

(c) Agency work (d) Clearing of outstation cheques
frffar i A w SsHan ol g T 8

(37) ST TR & (&) =|oE

(@) afmme (W wd () ST S A e

A cheque which is payable to a person who presents it for payment at

Bank’s counter is called :

(a) Crossed cheque (b) Mutilated cheque

(c) Order cheque (d) Bearer cheque

T oI TSTEeRT YT Sk o 132t W gaehdl ot ITed &1 SITaT & 39
() Wit im e (%) Fmmma e
(W) T =4 e & (3) URFIFFE 8

On opening this particular type of account by the businessmen, generally
banks do not allow interest, but they charge for the services rendered by
them. It is called :

(a) Fixed deposit A/c (b) Recurring A/c

(¢) Current A/c (d) Saving A/c

ST 5T Rt H 26 YRR 1 @i Gier W TE: S st T 3q afeen era
it % v po agE A §, WER B wE

(1) TS ST @T (=) Ferfaram
(®) =ne @ (3) w=a@ma
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15.

16.

17.
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A banking facility enabling customers to deposit or withdraw cash 24 hours

a day is called : ' | 1
(a) NetBanking (b) ATM.

(¢) Phone Banking (d) Credit Banking

Fent gTT 24 TU2 AqT AT A 14 T FremTa ot € g% g i hed ® -

(3F) & SR (¥) T

(@) ® SR (8) ST fRT

Which of the following is a Public Sector Bank : , ' 1
(a) Sarswat Bank Ltd. (b) ING Vysya Bank Ltd.

(¢) Bank of Baroda (d) Vaishya Bank Ltd.

f=fefiaa o e S F SrFR R :

(31) Ty 9 fafies (&) ING == S fafa.

() S AT T (8) v <= fofies

An instrument through which one bank directs to its another branch to pay

a certain amount mentioned in it to the named person is called : 1
(a) Cheque (b) Demand Draft

(¢) Bills of Exchange (d) Endorsed cheque

T Sk o W g 1ol gud vt g # forelt aitt w6 yam e =t
T AT IHH ToTET 2 30 A 1 TR Il & IHRI R ¢ ¢ -

(1) =% | (@) fenme g

(@) fafFmaux () duHI®

Explain in brief any three factors determining the medium term finance of a

business. 3

Tk =ag/™ & forg qegeneia fom st Fifa o=@ o fordl i sreent i
R ST |
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25. Mr. Ram Bharosey Lal is a retired government employee. He wants to open
a Fixed Deposit A/c in a Bank. Explain the procedure to be adopted by him

to open this account. : | 3
fir. TR o O R degn e ¥ Y u $ g s e
@wmﬁ%aﬂ%mmaﬁaﬁaﬁaﬁ%@maﬁmmﬁ%ﬁlﬁ
WET@I

26.  Explain any three functions of Reserve Bank of India. : 3

e e e 35 et i el ot e R

27.  What is meant by ‘Electronic Banking’ ? Explain any two advantages of
debit card to the card holders. ’ 3

‘T SfehTT o1 B ? FHISawan! i Sfee 1€ O firem ot fonedf <t aml =
T | -

28.  Define Bank Draft and explain any two advantages of making payment
through a bank draft. ‘ 3

-é%wﬁqﬁuﬁaﬁﬁqamémwmww%ﬁéawnml

- 29.  Give the definition of a Promissory Note and state its any four features. 3

Hﬁm—qaﬁvﬁmmaﬁqammaﬁéaﬂamml

30. Name the parties involved in a Bill of Exchange and explain the duties of

all the parties till the honouring of a bill of exchange. 3
T ferivme - o stfered qedt o T sargd ot aft uell o - s e
T T o THI & Fhaed] ohl AT T |
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31.  Define endorsement. Give any two examples of endorsement of a cheque.
S S e AR Ao T S ¥ S 3 3 e it

32. Differentiate betw_eén ‘Promissory Note” and ‘Hundi’.
‘it G FUET § ITHE i |

33. Give any four differences between Reserve Bank of India and a

Commercial Bank.

AR ST e 99 U AT S o Si9 HhiE IR 71 Jq15y |

34. Explain the following : ‘
' (i) Dishonouring of Bills of Exchange  (ii) Trade Bill

(111) Noting charges ~ (iv) Holder in due course
ﬁw%&aa‘eﬁwﬁ%rq: |

() Tafma-u fovaa 2 L () =R fEe

Gi) A= (iv) SrArTE 9T

35.  Explain any four limitations‘ of ownership capital.
T st 6 fereet =R Efmisti ) same Hifs |

36. Explain any four merits of Public Deposits as a source of finance to

a business.

RESIMMIE WP SIS ¥ PO I N S ———
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When a discounted bill is dishonoured the A/c to be debited in bank books
1s: ’ |
(a) Drawee ~ (b) Drawer

(©) Bills R’eceivable“ | (d) Bills payable _
Wa%mwgwﬁﬁﬁtméw%ﬁ%ﬁgwﬁﬁm@%%m
(Sfe) ua & R s 2 |
(27) ot & (9) e (3mEal) &

(®|) s faa % ) =@

The date of acceptance of a Bill is 30th Juhe 2010. The bill is for a period .
of 2 months. The date of maturity will be ;

(a) Ist’September 2010 | (b) 2nd September 2010
(¢) = 3rd September 2010 (d) 4th September 2010

O o v e A il 30 59 2010 % wen frer = T 2 W 2) vad
T ffer gt -

(%) 1 fqmr 2010 (@) 2fmwr2010
(%) 3 faEER 2010 (3) 4 Rmer 2010

A Promissory Note generally has :

(a) Two parties (b) Three parties

(c) Fourparties - (d) None of the above -

(&) Arom (=) dwam

(@) = /' O (3) SR E Y
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6. Goods worth Rs. 5,000 taken by the proprietor for his personal use, should

be debited to : - , 1
(a) Purchases A/c (b) Sales A/c |
(c) Drawings A/c (d) Debtors A/c

@t g/ sooomn@%mﬁmwmmﬁﬁﬁm T (Sfae)
u& H ohEl g AT

() FEAF - (@) EEIREISED
() e @ % , () IR/REEH
7. Suspense A/c in the Trial Balance shoWing as credit balance will be entered
“inthe: _ _ 1

(a) Assets side of the balance sheet

(b) Liabilities side of fhe balance sheet
(c) Profit and loss credit side

(d) None of the above

JeTge | I @ S T 99 feett @1 R, = foran st
(1) ferf-Fraoor 1 graRmi &

() Tof-fereor ot Svaricat &

(F) - @ S

(3) Iure o whet

8. Wages paid to Ramesh for erecting a machine should Be credited to : 1
(a) Machinery A/c (b) Wages A/c
(¢) Ramesh’s A/c (dy Cash A/c

wef e & i S TS Aegh ol 39 @ % o (6fee) ue § e
(31) il @ran - (¥) wsigdi @
(|) G @ (3) Uks @
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Goods destroyed by fire should be credited to :

(a) Purchase A/c | (b) Sales A/c
(¢} Charity A/c v (d) Loss by Fire A/c
3T T8 §U HTS 1 39 @ o ST (3hTee) v ¥ foren =iy :
() @@ () fesframn
(&) T@ @ (2) smawhEm

Rent paid amounting to Rs. 500 was credited to Rent A/c with Rs. 1000. In

rectifying entry Rent A/c will be debited with :

(a) Rs.500only
(b) Rs. 1500

(¢) Rs.2000

(d) None of these

[EaE AR uGIE] 500 T ) T For T 35 it 1000@?31%@@1%
St & fontret et o = ford S

(37) 3t 500 ¥
(#) 1500 €@
(@) 2000 ¥
(3) T AHE A

Sales Returns Book was under cast by Rs. 1000. In the rectifying entry, the
Sales Return A/c will be : ' ~

- (a) Credited by Rs. 1000

(b) Debited by Rs. 1000
(c) Wrnitten in Sales Book
(d) None of the above

14
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13.

14.
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=

ATt oE 4 1000,@?@%@@15%%&%%&31@@@

(31) 1000 ¥R ¥ ST R SR (&) 1000 T3 & A1 T SR

(%) ﬁmaﬁﬁﬁf@a@m (3) 3T el e

Depreciatidn on fixed assets arises due to : 1
(a) Physical tear and wear of the asset

(b) Fallin }the market value of the asset

(c¢) Fall in the value of money

(dy Sale of business ; -~
ol grafcr A B1E BT R

(37) W ¥ sitfien S o g2

@) W%W@ﬁﬁw%m

@) 31 % ge § firae & &R

(8) =qE™ B 99 F B

Which of the following is the cause of depreciation in case of a coal mine : 1

(a) Extraction (b) Lapse of time
() Waar and tear ‘ (d) Fall in market price of coal
Teh g & @ A G T 57 HIT0T -7 BT -
(31) forepefor , (F) I HT EEH
(W) =5 (@) PSS IR e § e
Estimated sale value of an asset after its working life, is called : | 1
(a) Original value | (b) Scrap value
- (¢) Bookvalue (d) Re-sale value
15 : [P.T.O.
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13.

14.
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=

Tt 7 § 1000 T FA ford T | ook giefy 4 fawe ad g

(31) 1000 % A ST RAETSIAM () 1000 &R ¥ =19 B SR

(=) %wa%"rﬁ%@'&r@m (3) Iores o el e

Depreciation on fixed assets arises due to :

(a) Physical tear and wear of the asset
(b) Fallin the market value of the asset
(c) Fall in the value of money

(d) : Sale of business
TRt weafoE § g g 2

- (31) wrafwEi itfersh ITENT 1 222 3 R
| @) mﬁﬁ%wwﬁm%m

(W) g1 % o 1 fRmEe & %R
(8) =agE™ ! 9= F HWUO

Which of the following is the cause of depreciation in case of a coal mine :

(a) Extraction (b) Lapse of time

(c) Wearand tear  (d) Fall in market price of coal
e HITS 6 G T S ohT SR SR B |

(31) Freepdoy | () ouF 1 TaE

(@) T L (®) we % e ged | e

Estimated sale value of an asset after its working life, is called :

(a) Original value (b) Scrap value
"~ (c¢) Book value (d) Re-sale value

15 f [P.T.O.
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Teh TR T S I T B OX 36l Sl STIATHA foshl e ol ga © -

- (37) R e (@) sERmgE

(W) g ges () o foshi e - |

A machine is purchased on 1st January, 2008 for Rs. 40,000. Its life is 10 -
years and the residual value is Rs. 1500. Amount of depreciation according
to the straight line method in the 2nd year will be :

(a) Rs. 4000 |

(b) Rs. 3600

(c) Rs.3850

(d) Rs. 3450 |

e Wi | 2008@40,000‘5@’&%@@!%@%3103&%
3R 3T g 1500 §93 2 | Torr fomeet wgfcr & e ad | g oy vy gt :
(31) 4000 T

(=1) 3600‘6"4?3

(@) 3850 T

() 3450F

Gain on sale of an asset is credited to :

(a) Resérve A/c

(b) Asset Alc

(c) Profit & Loss A/c

(d) Trading A/c

wrfral ot farshl & & 3t T s fore ST 7
(o1) TR ER -

(@) gty

(®) Y- @

(z) =mRERE
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18.

19.

20.
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What is meant by Promissory Note ? Give the format of a Promissory Note

with imaginary figures. 3
SfE-U3 T B B 7 HIodeh SRSl Y HEEal 8 WRg-u9 1 WY $aR
FNT)

What journal entries will be passed by the drawer in his books when : 3

(a) The bill is drawn and accepted by the drawee.

(b) Bill is dishonoured on due date if it was retainéd.

(c) Bill which had been discounted with bank is dishounoured.
o S B e i A i e it o i, st

(31) foren foran wrerm qon wefieen Y Tt fer et =1 1|

(30) 37 T T g foret v farfdr o foreera & )

(®) faret it sfeh @ &g w2 AT fooarn v o, fercespa €1 R

From the following pass ‘the necessaryjoufnal entries in Babu’s books :

On 15th January, 2011, Babu borrowed Rs. 5100 from Amar. On 20th
January 2011, Babu accepted a bill for Rs. 5000 for two months drawn by

Amar in full settlement of his debt. On 28th January, 2011 Amar endorsed

the bill to his creditor Chatur. The bill was dishonoured on due date. 3

forefrRaa & A 6 qee 3 JsmmE wrfE Hife

15 SHadt 2011 = 9 TR Y 5100 T 391 e/ | 20 S 2011 F 3R
TR ferfem 5000 T &1 forer qob yram wree &g 3 iR fm =it 2 =416 6
I T AT 28 ST 2011 ﬁwﬁﬁaﬁaﬁma@aﬁéww
T | e fofsr w forer foreepa &1 ey

State the meaning of errors of omission. Give any two examples of such

errors. 3

I SAgfaat s el el | Uelt STyt o s € SereRon i)
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22.

23.

24.

25.

26.
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State any three examples of errors which will affect the agreement of Trial

Balance.

T Tt i Tyrfed! & Serew i S aae % A % T s geed
Exutf

What is meant by ‘Reducing Balance Method’ of charging depreciation ?

Explain with a suitable example. ,

BT A T W GEfA’ FT T 9 BT @ ¢ T I9YT el aet
T |

Explain in brief any three features of depreciation on assets.

TrafRl T g o foRedl i el ol HE § JHeTEe |

‘A’ LTD. purchased a machinery on 1st April 2010 for Rs. 1,00,000. Its life
was expected to be 10 years and its scrap value at the end of 10 years was
estimated to be Rs. 10,000. Find the amount of depreciation to be charged
to P & L A/c every year and also calculate the rate on which depreciation is

to be charged every year.

1 19 2010 1 ‘T fAfd. I ww wfi= 100,000 T H 9 H | THHT SFFA
StaeRTeT 10 9 o1 qU1 10 99 I HHT T T 10,000 T AT
o TR | ST -BI @A &% AT g R ST et afd ad o g i af
=t o SR e wfted grE i g ot o A Rrad g e SRy

State any four points of differences between promissory note and bill of

exchange.

uﬁm-wawﬁﬁm—wﬁm%mﬁz%%wﬁgaﬁﬁml

Rectify the following errors through passing journal entries :

(1) Goods used in making furniture for office Rs. 4000 have not been

recorded in the books.

18




27.

(i) Wages paid for the installation of machinery Rs. 2000 were debited to
Wages Alc.

FrefaRaa srygfsat =t Asmmr=n wRafeet gogafa

(i) 4000 ¥ HT AT HETER FTeR a7 3w R o, oifer geaent 8
T T R

(i) o T o TETE T ST 2000 ¥ Begh W o W o fowe )

State with reasons whether the following statements are correct or
incorrect : 4

(i) Goods taken by the proprietor for domestic use will be credited to

Drawings A/c.

(i) If a cheque received from a customer is dishonoured, it will be debited

to Customers A/c.
(1i1) Interest received from Gopal will be credited to Gopal’s A/c.

(iv) Goods returned to Harsh will be credited to his account.

HT0T Hied wargd o Trefefad s o 8 91 e

() Wi R BT I9AN % Torg Feprer T Arer SIe @ o S for
SR |

(i) T T TTEF W WIS =% TG B A 2 1 A WEF o6 7 o S |

(iii) TIVITET B T ST AT o Wi 8 5797 31 SR |

(iv) &S By elver T wret 1 i S6h @i 3 s e i fe st

Rectify the following EITOrS : T4
(i) Goods purchased Rs. 2000 on credit from Dhyey, but the entry was

made in the sales day book.

(i) Goods returned to Basdev Rs. 500, but the entry was passed through

return inwards books.

19 [P.T.O. " =
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30.

31.
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Frefafaa g = gantad |
(i) €T ¥ 2000 FIY  IUT WA 33 =l oh@T e T8t | foha T |
(i) STEE R 500 T o WS- shT TTATE FerT-aae =gt 1 6 715 |

Explain the following :

(1) Tradebill

(i1) Retiring the bill under rebate
(111) Noting charges

ettt =t wwemed

(i) IR i

(i) =t W foret St gt

(i) s ==

On 1st April 2010 Harish sold goods to Manish for Rs. 8000 and on the
same date Manish accepted a bill drawn upon him by Harish at 3 months
for the amount. After three days Harish discounted it with his bank for
Rs. 7800. Manish met the bill on due date. Pass the journal entries in the
books of Harish and Manish.

1 318 2010 Y & T 8000 T YT T AT T T A= A 3t R whw
TR 3 Ui & T 3 9dm & o forfaa fow =61 71w 3 wiiera foram | = fem
ST B X et Bt T e @ 7800 T g fo | A fifdr R e X
foret o1 yprTam o T | wder e we < gEae! | s wfatse Hife

Rectify the following errors :
(i) Received a sum of Rs. 600 from a debtor was debited to his account.

(1) Purchase of goods Rs. 2000 for the personal consumption of the

proprietor was debited to Purchases A/c.

(1i1) An amount of Rs. 1600 received on account of interest was posted to
the debit of Interest A/c.

(iv) Bad debts recovered Rs. 700 were not recorded in the books.

20



Freferiaa Ffeat =i S Fifs :

(i) U UTEH B UTH 600 TI 3G A WTd | ford 79 |

(i) T o HETd ST & TIT 2000 T 6 HIST o o3 <l IS 3 @Td o
- am foret e

(iii) SIS F T H 1600 FTI = T1ta SIS Wd o T o Toreft 78 |

(iv) T TR 700 T WG & 7T, Tk Jeen] H Tk T8l Tohdl T |

32.  On l1st October 2006 P & Co. purchased machinery worth Rs. 40,000. On
Ist October, 2007 it buys additional machinery worth Rs. 10,000. On 30th
September, 2008 half of the machinery purchased on 1st October 2006 was
sold for Rs. 8200. The company writes off depreciation at the rate of 10 per
cent per annum on the original cost. The accounts are closed every year on

31st March. Show the machinery A/c for four years. 6

f. e w7 1 I 2006 H TH WA FH FA 40,000 T H fRT)
1 3TFEX 2007 T 378 10,000 T4 § T 3R A3 =01 31 Fovar) 30 Taawan
2008 I S HRMF 1 3TFZSR 2006 1 - 1 off 1 3T 9FT 8200 T T o
faam | et TRt 9o 3 10 giiwrd arfies ot R W BT Hredl 8| w6
WTd wiiad 31 A= 1 98 B ¢ | T AN 1 AR @i qar it |

TYPEWRITING (ENGLISH)
(Theory)

Time allowed : 2 hours | ‘ [ Maximum marks : 20
i gae : 2 992 ] [ SAferhan 37 : 20

General Instructions :

1. This question paper has 11 questions in all. All questions ave compulsory.

2. Marks are indicated against each question.

3. Questions from serial numbers 1 to 5 are of 1 mark each. Answer of these

questions may be from one word to one sentence.

4. Questions from serial numbers 6 to 10 are of 2 marks each. Answer of
these questions should not exceed 60 words each.
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5. Question No. 11 is of 5 marks and is a long answer question. Answer of
this question should not exceed 120 words.

1. The eraser ié not used for carrying out corrections on a stencil paper. Why ?
2. While cutting the stencil, ribbon is removed. Why ?

3. Name the proof correction symbol used to ‘omit the word indicated’.

4. Give the symbol used for ‘centralise the heading’.

5. Give the full form of C.LF.

6.  Explain any two essential steps for typing a stencil.

7. Give the meaning of the following proof correction symbols :

@)runon (i) —_

8. Give the standard abbreviation for the following :
(1) Signed
(i) January
(iii) Post Statement

(iv) Office Order
9. What is a stylus pen ? Explain its uses.

10.  Give the full forms of the following abbreviations :
(i) E.&O.E.
(i) M.P.
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Time allowed : 2 hours ]

How can you achieve speed and accuracy in typewriting ? 5

OR

Explain the methods of carrying out corrections on a stencil paper. 5
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[ Maximum marks : 20
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5. C.LF. 37oa .. 91, %1 q01 &9 i1 |

6. éﬁammwawm;ﬁml ‘

7. Fraferfan oo weie R ¥ e

() runon i)
8. T=fafem % fom wafera e fifSme -
(i) TEmeIRd (i) SFE (i) T (iv) AT e

9, wrEerd O A R ? e Sui wared |

10. FEAfRTRE T=ferd gerehl o YU &9 i :

() E.&O.E.
(i) M.P.
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